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real Pi,a,b,yoyuu

parameter (Pi = 3.1415926535)
parameter (a = 0.0, b = 2.0 * Pi)
parameter (yoyuu = (b - a) / 20)

h=(Mdo-2a /N



call fspace(a-yoyuu, -3.0,b+yoyuu, 3.0)

x=a+i*h
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yoyuu=2.0%3.1415926535/20
call fspace(-yoyuu,-3.0,2.0%3.1415926535+yoyuu,3.0)

x=1%(2%3.1415926535) /N

gboooboboooboboobobmobooobooboboon
gobooogao

gobobbbbobobouooooooobobbbbobbooooooad
goboboogobooogn

() 000000000000 DOfspace0 00000 OODOOOO
goo

rUgbbodbogobobodgbuoobbooboobbdoty b
gobobobboobbbbbododgoooooooooooooboboo
OO0b0oO000O00oooboobo0oonbog yo:MAXN) DOODOOODOO
gobobobbbuooooooobobobobboodoooooooboboo
0000000000000 mondaid-1.£ 00

do 100 i=0,N
x(1) =a+1*h
y(i) = £(x(1))
100 continue

call maxmin(y,N,maxy,miny)
yoyuuy=(maxy-miny) /10

call fspace2(a-yoyuux,miny-yoyuuy,b+yoyuux,maxy+yoyuuy)
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real xclick

character s*20 ~ 0o 2000000
0 s oo

write(s,*) xclick «~ s O xclick O 100
ooooon

call delsp(s,length) ~ O0OO0O0O0 (space0)
ooooo
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call label(s) ~ 000 s OOooo
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waltz11), 1ls mapdata.new ~ mapdata.new [J
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O0000Omgraph OO O0O00MMOO0OOODOOOODOOODOO
waltz11), cat mapdata.new | mgraph -b | xplot
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character 1linex*x30 ~ QOO 3o00odg
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read(1,1000) line ~ 000 100000
o000

if (line(1:1) .eq. ’"’) then ~ line 0 1000
o 00

else

read(line,*) keido,ido ~ line OOOOO
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endif

1000 format(A20)
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* Euler QOO OQOQO
do 200 i=0,N-1
t=t+h

x=x+h*f (t,x)
200 continue
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* Euler OO OO0
do 200 i=0,N-1
x=x+h*f (t,x)
t=t+h
200 continue
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